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  :ا������ء
  :ا������ ا
ول

  : �� 1ا���� ����ن ا	�
���� ا	����� �� - 1
��� آ���� (D) ��ص -
�� m1=1kg ������&% 	�$وران #�ل �!�ر r =10cm و� (∆).   
- (�) *+, (S) -آ/ �.�ر�� G وآ���� m =128g0� 67 &425 �23 �$ود وآ������ ���.  

)����7 ?<ل ا	!�آ� أن ا	425 > ;:/	9 ��8 D@�ص (	8 ا��7@� A�	ك ا�  وأن ��ى ا>#��

 
(D) ����D 	�/دو,� �/�0��M6&�E    .  @�ص	م �.�ر ا/�J∆ = 5.10-3 kg.m²                                            

 $:� ����
  ه�  (o,i)  �� ا	���*G &$ون �I�� G2# �2H$& أ�.�ل �t =0!�ر ا	�

 x0=-40cm *+
�م �+�ر�0� K7.2�  (S) ا	L���   .a =2m/s² �� #�آ� إزا#� �+�@�2N�� �2�2ة &
�د	� ا	/�:�2 	!�آ�  -1.1�   ؟(S)أآ�) ا	�
27�� #�آ� ا	@�ص  -1.2R )#$دD/اوي ؟(	ا �  E* أ#+) �+�ر�0

.)(:  ه� 927A�&M ا	@���ن ا	���� ��8 آ% �� ا	
+* وا	@�ص &�2 أن ���27 ا	�/م  -1.3 agmrJM −−= ∆ θ&&. 

1.4-  �L!�	ا ��t1=0,24s �� 425	6 ا�T:; (D) �2ة?Uا -Vه /
:�� n W���; أ#+) .  دورة �7% أنn؟  

�ق B ��8 ا	�Aف (D) ��67 ا	@�ص - 2+	 AB �+��
�� )���2( �0� m2=1,5kg آ���0	�Rو L=AB.   
 ����
�ق(���ن ا	�I+آ/ �.�ر- ) ��ص�� �� واز�Iا��G’�# وران$�	 %&��&6 ;�� �� (’∆)ل �!�ر   �E �@أ� A                              . 

�	:+ �7	V0ا ا	�!�ر ه� & ����
    .J∆’ .  ]^�AG’ = ℓ�/م �.�ر ا	�

/ #�آ� �V&V&�2 #�ل هVا ا	��`[K;/�θm ا	:�اس �� ��`[ ��از�� ا	�+�@� &/او;� :2� ،���I ر- &$ون�!� *E                                 .

���7 ا>#���آ�ت ����0 و ا	�+��ى ا�U@� ا	��ر �� �o�2	���� ا	�`[ ا	�@A	 >)أ .  
2.1- �2�2����� ا	��2A	�27 ا�2�ت؟Em أو,$ �A��ت ا	.�2Nة &$>	� ا	�&V&V�	ا �	�   	�:�اس �� #
�`��2 	�!�آ� ؟                                                   -2.2T�	ا �	د��                        اd�:�I ا	�
��� ا	�`[ ا	�@�	�2 	�:�اس &$>	� �2N� 8:!:� Epات )���3( ;��% ا	�27�ن -2.3R θ²  

�ت ا	.�2Nة&V&V�	ا �	�  .��&[ ا�U.�ل ا	/اوي �� #
   ؟AG’ = ℓأو,$ ���2   - أ

��� ا	!�آ�2 	�:�اس �:$�� ���ن EC#$د ���2   -  بA	ا θ = (θm/2)؟  
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��� ه�ا ا��������ع  ���  
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 .ا������ء ا�&�و�% •

 .ا��)�'�ء •

• %�)�� .ا���+�ت ا�

 .ا�/��.ة و ا
-��ة •

 .ا�����0ة  •

  .ا
1�2ة  •
 

 ا������ء ا������ء



�  :ا������ ا�#�3
�Np�;$ة ا	:�7��2�م 

239

93
 �2�����ط إg:	ا −β ل�!�� G2# 8	�7����2�م إ	ة ا$;�� PuA

Z.  

�د	� �6�T ��;$ة ا	:�7��2�م �!$دا ����2 - 1�  	�:�;$ة ا	���	$ة ؟ Z و A أآ�) �
��� ا	�!�رة Mev أ#+) &�	�#$ة - 2A	ا E 6 ؟�T�	ا اVل ه>?  
3 - ������ ا	!�آ�2 	�$�2@� ا	�:7A	ا ���7 � ���7 �ن ، ��I �	��ظ آ��2 ا	!�آ� وأن ��اة ا	:�7��2�م �8@7 �� #T!��& *�; 6�T�	ر أن ا�7���&   

 �	<$&    E و m(β-) و m(Pu)؟ �    ؟ أ#+) �0��2

4 -�  ��>���7 ا	)(
²

6,13
ev

n
En −= G2# n �2,20$رو	رة اV	 ���A	ت ا�;��+� �� ، ��27R K2!) د$� H1

1
.  

0� �� هV- ا	!�	� ؟n #$د ���2 -4.1���R (+#أ *E �2I�IUا �0�	�   	���ن ا	Vرة �� #
4.2-�;i�	رة �� اV	ا ���� ��	ا ���A�	 �;��$	@��2 ا	د ا$# .  
0� ��8 ا	��ا	� -4.3����R ت��15ev�I و 10,2ev  و 6ev:  ��د �����IU+��ى ا�	,�دة �� ا��	20$رو,�2 ا	8 ذرة ا�� .  

02� ا	Vرة &�$ ا>��.�ص�� K7.� ��	ا �	��ت ا	���.� واd�:�I ا	!����T	د ا$#        .  
      �A�� :m(Np)=239,07668u ; m(Pu)= 239,00063u ; m(β-)=0,00055u   ;  1u= 931,5Mev/c²     

  
  : ا������ ا�4��3

�!g� ���I �T��� C = 0,25µµµµF ��0!�آ��	ا ���� $	�� �AIا�& E = 6v ]R�                    و��آ�7 �:$ 1 �� ا	��`[k وذ	k &�`[ ا	@

  �L!�	اt = 0 �0^;�!� %���� ��2�   .)2 إ	8 ا	��`[l�kر,K ا	@�r)  ]R و�@�و��0� ا	$ا?��A&�� �2& L �2 و
   ؟Qmأ#+) �!:� ا	���W ا	@.�;�  -1
�;� &�ا�AI راI* ا	�V&Vب ��2Nات ا	����  -2��)t(Cu �� %���	:!:8 ا�	8 ا�� %.!:� W���	ا �A&�� �2& 1ا����. 

�ت ا	�!.% ���2 ؟-2.1 &V&V�	م ا�L� ��   
�ه�ة ؟ أ�T� 4+�2ا 	0� ؟-2.2 L	ا *Iا ��   
�`��2 ا	�� ;!@@0� ا	��-2.3 T�	ا �	د��   ؟��uC  أو,$ ا	�
 2.4- m;�!�	ا %���7�ر ��7 ا	$ور L أ#+) ���2 ����& T ص��وي ا	$ور ا	5+; T0؟   

�$ة ا	�2�ر  -3      ]� �2A&�� �2& ����	ا (I��ت �^W2 ��8 ا	��ا	� ��	$ ;�:&V&V�	ا ���2.	i G2# ug = 12i.   
     3.1- W���	ا �A&�� �2& ����	ا ��`��2 ا	�� ;!@@0T�	ا �	د��  ؟ أآ�) ا	�
�ت �23 ��5$ة ؟r #$د ا	�gط ا	Vي �+����2 ا	�@�و�� ا	$ا?��2 -3.2     &V&V� 8�� ل�.!�	 ��2���	    

                                                                                                  ���2  
            ���1            
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  :ا������ ا��ا'5
0�ز ا	<زر R�ل ��,�� , �� ����% `�ءا أ#�دي ا	��ن �:7
�λ �`�� (@�& ��; a.   

�g	8 ا��ه$ �g� ���+�& $��� ا	�� �7D�Iأ�	+��ى ا�	�2 �� اH�` ��  . �� ا	�@)، &@
1 - �2& ��>�   .a و θ و λ ��ف ا	�Tق ا	/اوي E* أ�4 ا	
2 - �2& ��>�   ؟a و λ و θ و D #$د ا	
� أن λ #$د R�ل ا	��,� - 3���10.4,4).( 

7 radma −=×θ.  

�- ا	�@) ؟ - 4
   #$د ���< ,�ا&k ا�
                    ����                                                                  
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  :ا������ء
  :ا��6ء ا
ول

%2�Uت ا��2Iأ *I���ف  ��A ا>,�ص &; . m�# %��T�& �2�� %.!�(A) آ!�ل ]� (B).   

�N2)     : 322223 هVا ا	��A ه�
CHCHCHCHCHOC

O

CH −−−−−−−  

0�  ؟-1�Iا اVوآ �D;/
   أ�4 اI* ا	�
���� ا	��2/ة ا	��,�دة �� هV- ا	
� �� ا	��آ�27 -2�>Aص ا��   .(B) و (A) ;��� ا	!.�ل �� 8��A ا>,

�0� �.W ا	�:g�رة(B) و (A) #$د ا>I* و ا	�
���� ا	��2/ة ا	�� ;!��ي ��02� ا	��آ�27 -2.1N2) (أآ� *E ؟   
��% 	�!.�ل �� 8��A ا>,�ص ؟ �� ��2/ا�� ؟-2.2T�	ا �	د��   أآ�) �
2- �L!�	ا $:� t = 0 0,5 ��/جmol �� (A) 0,5 وmol �� (B)k2�;�7�	ا m�# �� ��2�� �2آ� W2^� *E .  

 ��&�E �;42�5 �� در,� #�ار	8 ا�� p��!�25°C ����T�	42�5 ا�	 ���	ا *
   .V = 83ml و ا	!
��% �!$دا ا	!�	� ا	�2H$7 و #�	� ا	��ازن ؟ أ�qg ا	
$و-1.2T��	 �T)�	ل ا  
2.2- �L!�	ا&�$اءا �� ا t =45min و�@$ر ب ��&�E ص�   .n = 0,33mol  �7@8 آ��2 ��دة ��A ا>,

� اI* ا	!�	� ا	�� ��,$ ��02� ا	�
���� ؟- أ�   
�&�� ا	��ازن -بE d�:�I42�5 وا	آ2) ا�� �	���% ؟ ا	�@�و�� &KV0 #$د �� هV- ا	!T�	ا ا  
��% ؟-جT�	أ#+) ��دود ا   
��% ��A ا>,�ص �[ �!��ل ��آ/ 	20$روآ+2$ ا	.�د;�م �:!.% ��8 ��آ�27 -3T�; (C) ) وD(.   

�ل ا	.W.� r2 ا	�:g�رة ؟-3.1���I�& %��T�	ا �	د��   أآ�) �
�ء ا	:�ا�d ؟-3.2�I4 أ�؟ أ %��T�	ا اVه *Iا ��   
3.3-�:@�Aإذا ا� %��T�	0,5 ��  أ#+) ��دود اmol 8�� �:�.# �   .(D) �� ا	.�&�ن  �� 80g��A ا>,�ص و أ�:

�� V� m;) آ��� -4# k;���               و��آm�# �� V=0,5L-/2 ا>;����;k �� ا	��ء 	:!.% ��8 �!��ل �� �H	m�! ا>;�

� CA    ا	��	� �
# �;��� VA =20cm3 !��ل�	ا �� (SA) �H�                ا	.�د;�م ��آ2/-	20$روآ+2$   &�ا�AI �!��ل �
   .CB =2.10-2mol/l  ا	��	�

  *2� m�& �	���A ا	
$ول ا	�;pH !�ارة	:$ در,� ا�ة �;��   .C°25 ا	�!��ل ا	�!.% ���2 ?<ل ا	�
�;�ة  �  �:$ ا	����VB = VBe/2  l�:$   �7% ا	�

  VB(cm3) 0 5  10ا	!
* ا	�^�ف 

pH%.!�	!��ل ا�	8,2  4,8  3,4   ا  

��$;� ا	�!��ل ا	�!.% �:$ ا	����l ؟ أآ-4.1� %�� *E ة�;����% ا	!�(% ?<ل ا	�T�	ا �	د��� (�  
   ؟m ؟ واCA d�:�I #$د ���2 ا	��آ2/ -4.2
��% E* أ#+) �0��2� ؟ -4.3T�	ا اV0& @�و���	ازن ا��	ا ��&�E �� �7�  

         �A��pKA = 4,8 و  pKe = 14   و M(C)=12g/mol و M(H)=1g/mol و M(Na)=23g/mol.  
�  :ا��6ء ا�#�3

�ل أ��د ��&% 	�Vو&�ن���Iا %^T& �H��ز �:@�2 ا	�T/ات &�	�!�2% ا	��0&
  .;��� ا�
(Hا�g	8 أ;�ن وا	آ+$ و;�!�ل إi�; يV	د ا��Uدور ا (��; s	�  ا	�T/ �23 ا	5

�	@� �� ا	�!��ل� 7@8�.  
��% أ;���ت ا	:!�سT�� د�E�  . و;�!�ل إ	8 ��/ ا	:!�س ا	5�	IIs �:$ ا	�


/ ا	�!�2% ا	��0&��H 	�!��ل آ�7;��ت ا	:!�س ا	�!�m &�ا�AI ا	���ود-1:�   
  .�� ا	T�>ذ وا	���ود �� ا	:!�س 

��H أم �+�ي ؟ -1.1@�� %)�  ه% ا	�!�ل ا	!
�د	� ا	!.��2  -1.2��د	� و ا	����%)أآ��T.� ( ا	�T�	رك �� ا�g; < ذ<�T	؟)ا 

1.3- %&�  	�Vو&�ن ؟	��ذا �@�ل أ��د �

 &�2 أن ا	��آ2/ ا	��	� 	��!��ل > ;��2N ؟ -1.4

  . و���`[ 7R@� �� ا	:!�س ��2T) 8!� ا	T�>ذI = 0,5A ;�� �� ا	$ارة �2�ر �$�� t = 30min∆ ?<ل �$ة ز�:�2 -2
��% ؟-2.1T�	أ#+) �@$م ا *E %��T�	ر ا�A�	 �T)�	ول ا$
   أ�
/ ا	
2.2- �A�   . M(Cu) = 63,5g/mol  و F = 96500 C.mol-1:  أ#+) آ��� ا	�T/ ا	���`[ ؟ �
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 ��9/% ا�&/�س ��9/% ا���8ذ
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